N & 0l & Av S Z M A
20169E =B 13 YSANLHAZHNAKAANLSLEN &
SN HEAYD
HH: UK A X
CHol: UHAZHKY BHSHASALHAZTHIANZAASHSEH) (el @ e)
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
SN 2,119,565 1,481,930 637,635
p] 499,000 499,000 0
Al 1,620,565 982,930 637,635
MILIX At X2 2,117,065 1,481,930 635, 135
p] 499,000 499,000 0
Al 1,618,065 982,930 635, 135
SHAFHRGY BHSH(ASALHATHIAN ALY 2,117,065 1,481,930 635, 135
s=32)
p] 499,000 499,000 0
Al 1,618,065 982,930 635, 135
SHA FEIY KRAY 499,000 499,000 0
p] 499,000 499,000 0
1 Al HI %2 O 189,000 7,200 181,800
p] 189,000 7,200 181,800
01 Al&H 189,000 7,200 181,800
O(LSH)SAS ¥ MYJ| +TANE EX(2
ol FH) 7,200,008 * 14 7,200 7,200
p] 7,200 7,200
O(MASTRNMESLAYI 237 &7
15,000,0008 * 14 15,000 0 15,000
p] 15,000 0 15,000
O(MAS22)4+E SX 15,000,008 * 14 15,000 0 15,000
p] 15,000 0 15,000
O(StAIS121) &+ & & 22,000,008 * 14 22,000 0 22,000
p] 22,000 0 22,000
O(stAIS321 )4+ S &X 30,000,008 * 14 30,000 0 30,000
p] 30,000 0 30,000
O(QrolT12)0tSAE 55 ¢ D2tz B
30,000,0008 * 14! 30,000 0 30,000
p] 30,000 0 30,000
O(ZsTRNISY B% 2 g&02)
15,000,0008 * 14! 15,000 15,000
p] 15,000 15,000
O(ME212)0t2e B
7,000,008 * 14! 7,000 7,000
p] 7,000 7,000
O(H8R2)s2 AM2I| BA
7,800,000% * 14 7,800 7,800
p] 7,800 7,800
O(BASS)NISED Mo+ = &X
29,000,000% * 14! 29,000 29,000
p] 29,000 29,000
O(BZS)0ISED HUYZ (ML EAE S)
cREE 8,000,000 * 14 8,000 8,000
p] 8,000 8,000
O(0E2)DI23 2 ¢ C2HAZHX
3,000,008 * 14! 3,000 3,000
p] 3,000 3,000




DAY

SN B SR(EH) - MBAY - BES 0] &b 2 p/E-T HDE2
402 BIZ2HXHZ 0] 310,000 491,800 A 181,800
J| 310,000 491,800 A 181,800
01 BIZEXLZ A 310,000 491,800 A 181,800
ogdA= ot X&
Z & 310,000,000 = 14l 310,000 491,800 A 181,800
J| 310,000 491,800 A 181,800
ol g1yl 1,398,065 762,930 635,135
801 o8I Bl 1,398,065 762,930 635,135
01 etoidl gl 1,398,065 762,930 635,135
ool 2 & 1,398,065,000& » 14 1,398,065 762,930 635,135
HeEs(Haraa) 2,500 0 2,500
SENE(SESH)(ZENLTELFTHINAXZEALSEES 2,500 0 2,500
3
SHAFHAXAXNZAIG ALE SN BHE 2,500 0 2,500
802 gt =Dl Et 2,500 0 2,500
01 I DEBXSHE= 2,500 0 2,500
OLEAFTHINAR AN AISENH BHEtz
2,500,000 = 14l 2,500 0 2,500




